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Part A. PR g
aﬁ.

Special Notes: | M
i. ....../... indicate only one of the options included are considered as one mgwu
ii. Underlined key words or synonyms are mandatory in a given answer
ii.  [..] {} indicates marking guidelines
If any amendments are made during 9th September 2018 meeting such changes
need to be correctly written in the cages provided on pages 17-18 and verified

with the panel/chief examiners by the individual examiner.

A 6251083
Sada e300 :
i. ko] OB eSS 6 i TwmIes BN ¢ (3835 Dwes Bdew D258 BERSH 6ces
21085 U DD epsted .

ii. 632 eX BERG2 5853 9628 epre B ®e Al s#S 38cs1cs alXl 123@>250® alX (383Dx8cs @d.
il. )} @535 86t B 9aSE MBI gaseeed cziedd.

iV 2018e35:953 @8 099128 820 K.2dDeDE BB ese6rIDH WS By CALIesS 5 O
cd”E™@ 29, 30 88De IEame omag Xe ﬁalde‘é) 8803 ;gzsg apzs>6 2258 255 382538296083

Bo@ B RN X-a =8s:96cs8 £8cs® X S 825)/E B6L LI

08129EMOBE2 18 HOeel PoBB @8 Bouemd FO S

25 I&ae a 250 ¢ @29c8

(2) (i) godm O of |Cascading Style Sheets (CSS)] tBn S8e8 gecids snd senx

[ ) — —

(2} e e R T e P L L Ll FEFarssREEaE EFlaseFrETaBenande Bisr ISR NN AR A

i. Easy maintenance and update web pages

ii. Style sheets guarantee consistency throughout website

iii. re-styling of any document, without modifying the original HTML

iv. Asingle document can be presented in multiple styles by using multiple style
sheets (Multiple Device Compatibility)

v. More formatting options

vi. Present different styles to different users/ Ease of presenting different styles to
different viewers

vii. Pages load faster /lightweight code/ The smaller the files the faster the download.

Using style sheets can help minimize file sizes / CSS reduces code duplication
viii. Search engine optimization benefits
ix. Cleaner code
X.
IOR 0 eiBeber mseess | 4.0, (¢.e0g) Buxwn - 2018 | gbess eridn gnes me gud gi. 15



Teran
Placed Image

Teran
Placed Image


i. =989 &1 30532985 KB5S 5D e
. ge) m gda w 508 emed
% e325)® @226 DN SCED B3 531325) $0a

iv. 20D 6D 3B €85 W6 B edDEE VIR SO, D35 EBS
S HScs.

ggggazsf @d 66): aszf}zs)a mo@zﬁ@wﬁ ccm@é)zs) g@aaﬁw epET@S 56 @)
mﬁm@m@m 60y 8 BB} e 3;BOBE 318 3R 296 ®B)
cs.

vii. @63 D) 28 BE Gcsfed

x 28 A0l emtm

[1 mark * 2 =2 marks
Total = 2 marks]

(ii) oo edn HIML edo 3600 008 qnisighd 8838 ODem (b 50 cisom
<htmb>
<body>
<u> Important Sites </u>
<ul>
<li> <a href="www.nielk/indexhtml®> National Instinae of Educarion </a><fli>

<li> <a href=*vwwwdoenets Jklexam/indes html™> Depurmrant of Examinazions </a> </li>
</ul>

</body>
</html>

[0.5 marks for heading with underline text (Important Sites)
0.5 marks for bullet list with hyperlink

Total = 1 mark]



(iii)) ovo Sed» HIML ook deifo. 608 qobdgom 8813 Bews ¢xon BO oom.
Bt 8 ¢atboto.
<homl>
<body>
<p>
<center> Department of Examinations <br> Felawatia
<br> Battaramulla </center></p><hr>
. </body>
</Aomi>

[0 S marks for three centered lines
0.5 For the hardline
Total = 1 mark]

ok o {Total for 1. (a) = 4 marks}
;-f( ) mqﬂa@m HTMLada e’ eczmb

C <body>

_<hl> Introduction o0 Web Technologles </hl>

C<h3> HTML - </h3>

© <p> HTML is the :mndanl marbtp tanguage Jor creating web pages </p>
dbodp

;'W,fmﬁhlmpw mm&q«b ©Gor 60s oD cEmr-

- <style>: R R f.jj_ it [ 0.5 for starting and closing
‘style’ tags] . |
- h1{ color: BIue”- X
text-align.: center/centre, [1 mark] (Note:
‘centre’ also ' ' | '

: acceptable due to typographrcal error inthe table g:ven)
font-famlly Anal 3

} ‘ R - L om oA I .Ce"l‘%'"', C.eufffe.‘ ﬂeﬂ:&‘m

20 - emSHGT 1) ETRENE madeeic | &.osiis (4.ate) B - 201k | abeast Gia@idny srmest me: mmf s ¢ 4T U



P { background-color : yellow; [0.5 miark)
font-size': 12px;
}

</st'y|'e">

<html>
<head>
</hedd>'
<body> ... : o
<h3>Student Regnstratx :

0?‘ 5? ﬂi’:irli for <forms

u" \»"'\
L
IStudent Name <mput type—"text" name— 'name"> [0.5
mafkl t M Car’ ' both ace.'pi‘i‘cd,
</div> - -
<br>
<div>
Gender.
‘ <mput type—"radlo" name= ptype" value""male“ checked> Male |
_ o L [0 5 mark]
<mput type'=f'rad10" name=‘f'ptype value="female" > Female o
- . [0.5 mark]
</div>
<br>
<div>
Selected District

[0.5 for both open and close

18-



<option value="Jaffna" > J affna </option>

<option value="Matara"> Matara</option>
[0.5 for all three options in

correct order] A
</select> \ Nl 7 N 9:\>
c,vgh‘ka‘ 04 \& \*

: LR
</div> 23 2
<br>
<input type="submit" name="submit" value="Submit"> [1

mark]
</form>
</body>
</html>

(Note: both * and “ are acceptable in answer)
{Total for1.(c) = 4 mark}
[TQTAL MARKS FOR Q1 10 MARKS]

2. (3) ocnm gzled (i) - (Viii) and, ¢ &Zp0d 8870 6 o= Zmoe dedbo

C188008 H0xd © fry Vo oeDTR. © =o0R B e

S8 o =G -(brick-and~click), gotalione ¢ e¢zizw (content provi
4 v provider),
e\»adnc'(emnqﬂn), Doadd eco 8t o188 (groop purchasing), eevdgd;

mAODR (u_lfonuanon broker), &Soce odeogeeong (online marketplace),

(525 (pu?-.bnck),aad_d&d (pure-click), 58 cOntedBo (reverse auction), g

- g$H® (virtual cormmunity), qmdz 6d0eg Pelasamds (virtaal storefront)}

(i) 058 gbBo Wi bz cotidDar OmMmIOCD (002068 Hxoend) Egld et el HBE
. q68k0 Gs & gechecd ghamus eodad ece gons B = 2
(i) Sbomd & v OB 5d =S DIIY Y Yo, Bocxd (blogs), B8exs 8

& w29
(fii)omg—dzquqwdawndmmmw
(iv) mwmm:wwmm%m)
WM%W@ﬁbaMM@%dwoswmm
(("‘;;WQGQMMWMQMQQM
TR O oo o, gEintheed it oBoeBoazd
mémmdmdmmmwegwwrwmq::emﬂ
(Vi) 1 P@RROZD Wwad m eds qech A58 oum By
EOR 0 eBemmn quimiichea
- WM&OMWMWQ@&QQ&O&%MW
viil) o0®8ooried 8 '
mgﬁgéo 0(:4”01800 080 o4 mdson gotalldeed 83
m.mwmmwmwma@mm.




i. Virtual storefront
ii. Content provider
iii. Virtual community
iv. Online marketplace
v. Brick and click

vi. Information broker
vii. Reverse auction
viii. Group purchasing

i. 308 6dee Ye8R©IGH
ii 3BDEOBS D ee2I™m)

dii 3DIB YHd

iv ®Enmnm 6deessg

v S esen 25828

Vi @2.‘}33(56261 5)1@32&61_

vii %) 6925363

Viiiz et 6ces 38 3O

[ Note: correct key words(exact) should be written from the given list]

[any 1 correct = 1 mark
Any 2 correct = 2 marks
Any 3 correct = 3 marks
Any 4 correct = 4 marks

Any 5 correct = 4.5 mark
Any 6 correct = 5 marks
Any 7 correct = 5.5 marks
All 8 correct = 6 marks

{Total for 2 (a) = 6 marks}



(b) (i) 12,)0:a0:008 scen® gpgdimo (Iwo's compicment) 33 8 wiloocst Hooas Ox
omde Buo ¢z,

00001100
[1 mark]

(i) ~68,) 552008 ol epgims 37 8= oPoeus Boiwes & mmse R
<80 zioy.

68 -> 01000100
Complement of (68) -> 10111011
{-68 ->10111100
’ [final answer 1 mark,
if only first two steps are correct and answer incorrect 0.5
maximum mark 1]

(85768 BuDAE @z 6350 s3f BsOS B sed HNGE 4Des5 BEHSD

cxRe |

(BEME 6Bx)D) B3SE B8wdS e @& & i O CRey 0.5

cu8® cxe 1)

(iii} oo (i) ™ (ii) & BS1oGe ;Brpazm - 68, + 12,,0Eex DI

10111100
+ 00001100
11001000

[1 mark,

No partial Marks]

(iv) msmmmmwmmwmmmmas
C109>) O Or80s eoad Do,

More efficient calculations

Possible to represent negative number
Subtractions are carried out as additions
has only one value for zero

O O O O




o 981 2385 BO WeEnr3 BB

o 3280 3OABBH; S35 B3 BE6® 01285529

o FINBES D) HES 6@ g HES

o Q28 (0) e3€e) B2 32 D &2 BDD.

[1 mark]
{Total for 2 (b) = 4 mark}

[TOTAL MARKS FOR Q2 10 MARKS]

(i) qeogEs coce < (attribuses) oo 2%e® T 'Phone’ coce s, 0O oot e
T qrtedt & w8 exdecst omiER nidm.

“Phone” —is a multivalued attribute / attribute can have multiple values and other
attributes have only single values

“Phone” c3%5) Y PORH23 B sczsiB A )/“Phone” cBE2B 8030 (29I
2036253 BB 0 g0 P cBCEB e ' DCO 5B YMB32 VD& F12.

[1 mark]

(ii) COMPANY &80 oiofe® § DEPENDANT qmaioo (entity) 0o com i afert ¢80,
qdes g8 q8 eadecr! iR oovim.

“DEPENDANT” is a weak entity / cannot be uniguely identified by its attributes alone

or equivalent meaning

“DEPENDNT” c579) 58 69208088/ 68 ol es 985 s@ex anms ece
20820 ) 620081 6T DDA 3@ Peeneas
" [1 mark}



-

Zd’emba Bwsm e¢une®sind

(iii) oo GHe0D YUY 8T BONM B B cve BODHIm 0Q egzxoy
B, o o OQUOB ady 1d (9 e . ’

COMPANY (.......... @, )

P -> CompanyRegNo, Name, Address

2o\
CompanyEego o o
Q -> StafflD an Name, Address, DateOfBirth, Since b*’t ¢ »°
det AN AL m / \l*d{
or uv G,xfa
% w\aﬁ

Q> StafﬂD, ComgggggegNg! Name, Address, DateOfBirth

R -> StaffID, Phone

S -> StaffiD, Name, Relationship, Gender, DateOfBirth
(hnu.addmwal.ﬁelds mentloned or fields mlssmg or incorrect field names written:

no marks awarded

Each correct 0.5 x 4 =2 marks,

[Note: Overall completeness mark of 0.5 for partiiii not awarded if ‘Since’ missing,

however 0.5 awarded for other five fields in Q]

for overall completeness (properly underlines key fields, ‘Since’ field included in Q,
attribute names correctly written m correct upper-lower case with spellings, n‘*é
and All P-S corréct) + 0.5)& Moﬂ"‘L

Total = 2.5 marks]

(iv) motoeatoEecd (STAFF) Bodczied® 5% wo 88 grlintxs 58 oem SQL gmosass
Szt

Select Name, Address from STAFF;
N\ [ mark,

n “ial marks,
mess Fl Incorrect field na es néma%s]

e &7)*7 b -
Se mé“f’a Bon 05 i *

20 - eoncd: ¥ orlBebim mulema | qeme. (c.oog) Bmon - 2018 | gdesd B.endds nnes e gnd o, 23



W (Sean N O{DIVDITTIPY X“d X ,3'6\’
— A
&> é
«

(v) StaffiD = 'E001 124’ b2 enbu@ et co®émxpad cieosmsiod (DEPENDANT) »®

e 868 o SQL gmumwed Busim. \A@‘%: . _,\ng_
"‘\a@,; ) . %\ /g
Select garlme from DEPENDANT where StaffiD =’£001124’ . / ,\hﬂ n \9&\'/4.(\ ACW,V
o 1
Select Name from DEPENDANT where StaffID like '/JE001124]A 3 1

[String has be within double or singlequotes

r,/‘vmﬁu_«ﬁ

w0 N\ Incorrect field names no marks]

” (ZNMENRC
~oTd S 1 mark]
Féja‘@i@‘ Case Sea schee. {Total for 3(a) = 6.5 marks}

Cous :(’ er -méy‘)\(b; NN,

(b) (i) con HHodm (B ©WiB® odwens (DFD) ;8 88» edocs! mgrrHeom ol

o3is.
101 22 |
‘ gdiv So 250 etrdom :
wanme Bomm _ memm ; geilemas
W] Come  [SEIET]  Gues  [Tggeesend emimes
(gross pay) net pay} {met pay} pay cheque) {pay cheque) ;
T |
i {
; _ > S
Fwm on i 552 bgd
(aflowances and deductions) {salary)

There cannot be a Data Flow from one Datastore to another Datastore without a
process directly

[1 mark
if more than one answer given as the fundamental error = no marks]

20 - eoodndy o onifledem mdeme | qeoe. (c.eog) Buwe - 2018 | qows] ceaddn qred me gad .



fii) Sagr® SSHON IO e¥ALID ton EPEOD O O GEeS BBT § GUBG ¢ W o

B (ROHm. | o8 |
(1) ®xrmae® SSpiedcamd (sofiware agent) o8 qofes oH @
2 98 ddnea oo wol o qlulwescyl emicd wwd
o0 &; e v Cereiedereimncectsina

(2) eS¥emoned oy elwemaSs! emdd S o POCT
SeAHOSER odo eTolSced eodo .

(3) o88cpeqd SKSHnDd ol EbS ¥ ©0gemo 82
C aH D,

.....................

. True
- True
True
" True
© “True

v WN P

.[0.5 x5 marks

Total = 2.5 marks]

{Total forvpjaf?;% 3';5 marks}
TOTAL MARKS FOR Q3 10 MARKS]




4. (a) cBomod =(v8un O dmo (abstmact la)‘ers) 6503;@8 oBTX) O QIS soTiim
ot qde&ls) Srondsm nemstn.

1 O 2om: 3 9
. oB%co oﬁ!ﬁa:a olBem

B
e
oo

®, @ Qw1 @ = ec‘,aeﬁca v@e &‘.‘)@ oq oD clsdzge@m s Eudo
, &MQB {cs@voqmo (compller) uSco&m 200D, BLowid, cOTOGR ©iDBm, HOB/ees® .
R e}

A -> Compiler
B-> System/AppImatmn programs'
C -> Operatmg System

D-> Computer Hardware

A > 8392328295
B -> 3d0BYEEES @@@@"@
C-> 66O BB

r ey wmdrt—
D> oBeenm ¢atdie® Z

~ |1 correct (with others blank) 0.5 marks,
2 correct (wnth others blank) 1 marks
3 correct (with others blank) 1.5 marks, -




(b) oSemmant ooy O (swilkched on) 8c6m e@swg® Ddnd 8680 oo gmwbRs?
0008 50O cog oM.
(ax@: o He gQedtl egns qOa eaed.) ot o
- cBem olD8o (BIOS) D&t oo ol08ed ooy Hior IO

A &%uﬂwo@o@muw

B - @8n @ o oo CMOS Boear!, edewp® oldd80 aoun ooy ! Boxsxs
oo 088

C - e8cx oo (compiler) &9 qoR8.

D - onmed it g d Jdood gBodein (swap) o, e )

E - o8eog® oloffo D88 cod §csdled gdas cug® 09 (device drivers
gp&mmagﬂnqNﬁmthwbgdﬂ@mﬁuﬁm&maamamﬁeﬁe
S §xeso (login interface) cloed.

F - ol sdon (clock ticks) 8RecBs §odos § 80p og® dom=a (CPU), 38,
o> pfm oloRec8 (BIOS) e oush® diao u85wy (Power On Self Test)
TRes PS¥on glodheaB coekd Scxtn B8

eSong® 858 nB8e0e ulezt: (gie FINEERH 0] $odin)

F->B->A->E

[All correct= 2 marks
No partial marks]

®.®, 0 e ® ocacEs (PO ragwts Scbon (transition triggers) 2 .8
C18eigedss emdc Rozim.

OB = {40t BpO(ntemupt), g%ow/ESqm oo BB (event) B® SoE,
PPE/ghcm B4 ond B88cd e el Bcn B8, Bo®midfys 8@

o 1 88(scheduler dispatch)}
S ® ........ v cermnerens
L ®

------------------------------------

----------------------------------------------------



{note: question number (i) is missing in the Sinhala paper}
A —Interrupt
B -> Scheduler dispatch
C->1/0 or event completion
D ->1/0 or event wait

A— 42501 De®

B -> B3O8 8 3 9B 6506 $19®

C-> reari/gBern eend 346 5O BE®

D -> g1215/gBern tseen eend 3dE) eseenr DRI 858

[Each correct 0.5 x 4= 2 marks
Total = 2 marks]

(i) 3o §pd800 qhed con il ForBuncd nf) o v O eslqizd ecxim.
QY S ............... erttearenannes ceteerrnrerains eettsteetenesemmienransresnsasansmees

0S decides to let another task run / process timé*out»_Lg hi_gher priority process comes

6960 8BS 69555 18EE2O DM DO 3er @) B BEeHs
ORI 52:08665e 236 BOcDB/Yne YYD s BBz’ 988233
@d.

[1 mark]
{Total for 4 (c) = 3 marks}

() ool Snmed i O GF oRAWO EGox: 193 efVTm.

4x1024 x 1024 /4 frames ($28)
or
1048576 frames ($2&)
or
2% 2" frames (02@)
Or
2 frames ($28)
[‘frames’ word optional in answer,

(BERGSH '6rFy 82 OO 660HIBHA)
1 mark]




(i) e®ewy?® ofofie, vSoaned Cms D & ¢ Hevluz (process) ot 29 8@
(page table) »® § ¢do dpwed (data structure) modn 238, 2% ¢in Drna ey
Oter &3 wgms (7

This data structure holds the mapping between process pages and memory frames

[1 mark]

(ill) e8> Snoed 8nNd o 8O, gun z8oaded andes;B Soo (vinual
memory) MmDe o 080 BSSuES (e Hle R&F ¢?

The virtual memory technology makes it possible to use programs which are larger than
the size of the physical memory (4GB)

D5 )OS gmIBSB 12 BB EHCS (GNIB OGS YOI &5 4GB
OcO( ) BO6ED 18 BEOD @) 833eB .

[1 mark]
{Total for 4 (d) = 3 marks}
[TOTAL MARKS FOR Q4 10 MARKS]

**Important**

Information for Chief Examiners of the panels: Please fill the following

table and includeany amendments made at the chief controllers meeting held on

9" September.

Check List
Question Amende Amendment Made
d?
1. (a) ]
(@)
0y
2) O
(ii) W)
(iii) O
(b) O

Scanned by CamScanner



(<) 0

2 (a) 0

(b) 0
(@)

(i) 0

(iii) 0

(iv) 0

3(a) 0
@)

@) 0

(iii) o Q¢ con mj\ZZjﬁ‘o' m\wa; &b Saleed

(iv)
dﬂ'ﬁo Eb/ kfﬂhme D @L Cbge,S¢:nSfﬁ\& 7QG§9JA a“hy
0]
(ii) 0
4 (a) 0
(b) 0
©
@
(ii)
()] 0O
@)
(i)
(iii) 0

ok ok ok ok ok 2k ok ok ok ok ok ok ok ok %k k



ICT 20 (English) -2018
Marking Scheme
Part B

Special Notes:
i. -

answer

indicate only one of the options included are considered as one

Underlined key words or synonyms are mandatory in a given answer

iii. (..] {}indicates marking guidelines

If any amendments are made during 9th September 2018 meeting such

iv
changes need to be correctly written in the cages provided on page 54, 55
and verified with the panel/chief examiners by the individual examiner
Hecdas e3denzd:

wd e . OBBS, eI 26 B I (BERSY 32823 V2wt 8D ew2s) Iz BESzS
633 3B B DD esiEdB.

e’ B¢ BER6m, 358 QO e B YR B2 end B88His Be (3@1ENY Be)
38301805 @d.

[.]{} B3, BERSLHE NS MBOD cs6eed ersedd.

2018 €395 OE 09 M} &» ALeIFeDE BAS tseeIDDEH By cABIES 5HO
2A.e30800d0m 54,55 . 893G § 1B 426 6238 RE BNSED BIes g3z IS, Oz Oz
5883820931 S OO 366D 38382 OFNS/GNn B8=B2 OB mBYSL
206 62 ¢§2CS.

8o @5 e 26® uT8r86ues] BB e6¢F mGEn2D/EBEEEIZD
5:29C 032} 128 HD6HE PoFB @105 8demed 8O Y361 mSrEm/cueaes

8802 PWODHS 20653,

2 - eadqd ) coiBebim mdede | aoore. (roce) Bmvncs - 118 | afased — ~—2~..



Answers & Marking Guide:

1. A.B sx Co® g0 gons =0 Z 8 o g8ormudd 80 Sc@ormn edibad e nlon obistass
gloma B85890 adus B Bowdn. 68 0,530 sne =02 ¢9.
e C= | o€ Zg&ermwo A8 coo 23,
expoz (=09 Zgfenrs B S gqoo «él.
(a) Z uf$Hrme vesn mozon S0 A orln.

Truth table for the output Z Truth Table / 323225 Z e3€en) &'325))525)35%@@ Ny < :

A B | C Z fe— "0‘(’:9":(0\»\' m@@fS‘a

0o 1 0] 0] o o~ -

0 0 1 0

0o | 1 0 1

0 1 1 0

1 0 0 0

1 0 1 1

1 | 1] 0 | 1

1 1 1 1

[0.5 marks X 8
= 4 marks)

(b) Z =g gooomies ¢S (sum of productsy edd £opfe g&=e (praduct of sums) eof ex=xke
oy pmesnos Gedds,

Option 1: Sum of products (SOP)

Using the 1-rowsfor2,Z =ABC+ABC+ABC+ABC
oy

Szode 88562

Option 2: Product of sums (POS) |

Using the O-rowsfor2,Z = (A+B+C)(A+B+C)YA+B+C)(A+B+0)

[2 marks)
[No partial marks]




Method 1: Using Kamaugh map

Option 1: Start from SOP

[ve

L]

SimplifiedSOP: Z =AC+BC
Steps:
Correct Kargaugh map -> 1 mark
®  Correct marking of two groups {loops)~>
1 mark each *2 > 2 marks
[3 marks]
. Expected final answer:
Z=AC+BC
{2 marks]
[total for (c}): 5 marks]

Method 2: Using Boolean algebra
Option 1: Start from SOP

Z=ABC+ABC+ABC+ABC
Z=ABC+ABC+ABC+AB{

Optian 2: Start from POS

Simplified POS:Z = (A+C)(B+C)

Steps:

e Carrect Karnaygh map > 1 mark

o Correct marking of two groups (loops)> 1

mark each *2 > 2 marks
[3 marks]
expectad final answer:
Z=(A+C)B+0)
{2 marks]

[total for (c): S marks)

Z =AC+BC(C € Expected final answer [2 marks]

Option 2: Start from POS

Z=(A+B+C)A+B+C)A+B+C)A+B+0) *
Z=(A+B+C)XA+B+C)A+B+C)A+B+C()
Z=(A+C)B+E)e(B+C)A+A) € 1markeach forfactorizing *2 = [2 marks]
Z =(A+C)(1) & (B + C)(1) € 0.5 gagh for simplification * 2 = [1 mark]
Z=(A+C)(B+C) € Expected final answer [2 marks]

[Steps 3 marks + final answer 2 marks,
= total 5 marks
{Total for 1 (c): S marks}



(d) goo (€) 8 S Bd™ Cf PR oo S B8 e 414 agard oy NAND 05 o3 &
oS ¢ et o8 NOR £00d oo i3 608 el o oz cBodad eantyowmim.

Logic circuit
Option 1: Using 2-input logic NAND gates only

Can start from the simplified SOP expression, obtain AND-OR sequence, then convert that into
NAND-NAND using De-Morgan’s Law

. | o———
' DO, 7 Expected
' final

B o DQ—— - answer

Option 2: Using 2-input NOR gate onl

TR T R A

Can start from the simplified POS expression, obtain OR-AND sequence, then convert that
into NOR-NOR using De-Morgan’s Law

A e, : \"\):\ —
g ' ‘_ ‘ /.).,/ £ Expected
. E : ' >_finaf
C Tq__j ¥ 3 : . answer
B - Zﬁ_— | _
[4 marks]

{0 marks if even a slnéle disallowed gate is used

2 marks if the number of NAND /NOR gates is higher than above, due to not utilizing De
Morgan’s Law, but the circuit correctly implements the logic function for Z

-1 for each input or output not clearly and correctly labelled in the diagram (e.g., 3 out of
4 marks if the output [s not labelled as Z; 0 out of 4 marks, if none of the 3 inputs and the
output are labelled).}

[TOTAL FOR Q1 15 MARKS]



S evo qatets 008(Ca DEDSm.

XYZ 605080 Sdoro, 8G9, eeeb. uluwen, méuz:ku =) smir;_xh orste g aden ot LS o e
sam qo. e ¢ 2o oebrinetd 8 cloary rednd vww HeetS eurit) o,

o00eBcG Qo squOmaminy | obaro
T ol Sdois ) 25
P2 8 ‘ 30
003 " [qeco ,. 8
DO4 800 30
Tops e s
L boo o sains s edin | 2 28

gt €3 eolinea=ints moresdd dondo guds dices (LAN) afoel 258, die oBuwe ein
CesfiBed 192248.154.0/24 [P 88y mamtded 1B 0. o© e4oima@zpiad qbacmn widxedsy
o 6 ogenlee®xiqud [P 85y edm omesn qronkcd. IP 885 miediia cohHeow (subnet) 8250

o [1 mark]
(i) IP BBo moedfou8 e ,@_;qs;g,;g 88 o@D ¢?
First address:  192:248.154.0, . Lastaddress:  192.248.154.255
[T mark x 2
- . =2 marks]

(xu) qé)wn’(;cdo@l;zﬁfj@oe?éé 888 wgem m&'ﬁmoém‘(host) &) eoe®@m gbon e (7
Three (03) host bits are required

[2 mark)

(iv) cedcen 888 g O O equolineloind agt @gg i BBmo, cuth @BsE
(subnet mask) ez R2la oW IP 880 e R qz:sts{m o
oow: tded B8yd S 88@ BE0r COD QTEED By 4mafks wBo s,




ecodoeddy quoo e B8B8ad Ccohe POIDO
POl

D02

DO3
DO4

IP B88® otan

D05

D06

Department No

Network Address Subnet Mask

255.255.255.224

255.255.255.224

255.255.255.224

IP Address Range

192.248.154.0 —192.248.154.31
)

192.248.154.1 - 192.248.154.30

.192.248.154.32 ~ 192.248.154.63

192.248.154.33-192.248.154.62

192.248.154.64 — 192.248.154.95

192.248.154.65 - 192.248.154.94

255.255.255.224

+255.255.255.224

DO1 192.248.154.0
D02 192.248.154.32
-DO3 192.248.154.64
D04 . 192.248.154.96
DOS 192.248.154.128
Do6 192.248.154.160

7255.255.255.224

Two other possible entries for any of the department:

192.248.:154.96 — 192.248.154.127
192.248.154.97 - 192.248.154.126
192.248.154.128 — 192.248.154.159
192.248.154.129 - 192.248.154.158

192.248.154.160 — 192.248.154.191

'192.248.154.161 - 192.248.154.190

[Each correct row 0.5 marks
0.5x6

= 3 Marks]

Network Address Subnet Mask

192.248.154.192 255.255.255.224

192.248.154.224 255.255.255.224

Alternative Solutions:

IP Address Range

'192.248.154.192 - 192.248.154.223

193.248.154.193 - 192.248.154.222
192.248.154.224 - 192.248.154.255

192.248.154.225 - 192.248.154.254



First divide (subnet) the IP address block into four equal subnets with 64 addresses of each

Allocate first two subnets (blocks) to two separate departments

Get third block and divide into two equal subnets of size 32 and allocate to two other

departments

Get the last block of 64 address and divide into two equal subnets of size 32 addresses
and allocate to the two remaining department.

3689, P 88 21edRs Oz Ozns BB1) 64 DB 8311 GB3HE MHMEMO GALBIB (6BHICH)CS

26B35)

36§ GBBC (20e3R) 625, 62EHEDBT) 62O 8DSHIX.
RBOB) 1ETRS 6197, D2 D B8 32 ) 3@ EBHHE 6O 6E) GOMBS

623185692555 6220 BASKI®.
QBBE B8 64 & 2nededcs, D25 Oz B8 32 DB L3@B 3G GEIWO 6 9BB
622:8569255%) 6220 86K,
Department No Network Address Subret Mask . IP Address Range .
D01 192.248.154.¢ 255.255.255.192 | 192.248.154.0 - 192.248.154.63
| 192.248.154.1 - 192.248.154.62
DO2 192.248.154.64 255.255.255.152 | 192.248.154.64 — 192.248.154.127
192.248.154.65- 192.243.154.126
DG3 192.248.154.128 | 255.255.255.224 | 192.248.154.128 — 192.248.154,159
192.248.154.129 - 192.248.154,153
DO4 162.248.154.160 | 255.255.255.224 192.2¢8.154.150 —-192.248.154.191
192.248.154.161 - 192.248.154.190
DO5 192.248.154,.192 255.255.255.224 | 192.248.154.192 - 192.248.154.223
| 193.248.154.193 - 192.248.154.222
D06 192.248.154.224 | 255.255.255.224 | 192.248.,154.224 - 192.248.1;54.255

192,248.154.225 - 192.248.154.254

Two other possible entries for any of the department:




(b) XYZ 2800 Bdesiim. 3¢59. q0cB, s8encm o0 HOEn o aionline®sin o eondnd; tulzes
et e(eline¥sindd o®dsid md. 28 oclinediy eoipd DIee AHTEdTDD Wox
erinithewd 0®asi0 odb. duisl qrd, <80 vodd, Pomodmars (router) oo 853 ohord (firewall)
SRt B diea oPRYe 96 MD. 2(UDIBTIR V1 0D PO cOMBE e S ©n
E . & oSoocn D8 Bug & codicdcd. Bowddm owdbxrxamym (proxy server) odmm
eintitsd geda OO 3O ocm g, Sevkin edhipums oo DNS edbigioma emdna
e G edD e¢tnedziget8 ddoxs od qo.
8eg © dim g REY Ccom® m ¢dan dmz vgrw fi®H, XYZ 0@0ef8 ofvan dhcecs
oYnes omee Soioea 8600, o® ndm f e iondny) g8xin.

(b) Network diagram

o
ISP 6

-Switch - Safes

internet Connectivity

Firewall

DNS Server Proxy Server

Placing switches correctly and Iabeling.
2490 BDG8D esdmmn B8 23 5O BB

[2 marks])
Connecting switches with cables and naming correctly

2380 Al 30® B3N S8D e3DBIR B8O 2320 5O BE®
10.5 + 0.5 marks])

Jatch . Prmhcmn

S b

WERE—

Placing DNS server and Proxy server in the correct place
DNS @e59322c525)¢3 2329 B}@c53ed %) 6edDr21c520e5 BNSED edhmmn B6@
[0.5 + 0.5 marks]
[ 1 mark]



Placing router and firewall in the correct place and connecting them

80262065 2320 BA 3YS BDGED ehmmns BB 2320 DzsSerz
230D (¢57) BB®

[1 mark]
Showing the connection to the Internet
e [1 mark]
&=
AEEy

Router

Internal Lenmealinly

(€) &ce 028038 qend® ©OI1WedE D10 E4oIDIOTIPOD Brn® ESODERd oo

LetneEinedB elogmen i 008 onliio:s 086 dmam8 e Sddxame hitp:/www.
:i%.\l?mm FOBO bl 8080 w18 Jo. ded »fe Cxnd {acof oxf edbmecs ne
gelinedzineds vlnwnedsl 2O ebd 0830 yeba DD exnmB 89 g o58.

oD OO0 f o viB ady Qe 8o qSSien.

o DNS is not working (down)

0 Proxy Server down

o Change the proxy settings

o Internet Link is not working (down)

o Switch is broken / No power for the switch
o-Router is not working

o Cable damage / Cables not properly connected

o Network card of the computer is not working

o Computer is not properly connected to the network

o TCP/IP configuration of the machine is wrong




o NIE Server down

DNS GedDieacszncs g)cs D@

#ewdSr 6eddreismas g O

Beiidn 8909 cdnmes HES

353893 83053 He H:8®

800 g)cs 8@ eend efDDO VB D SessiB d@
@1862629 3285 5

Aenzst 2 637@ eend B8 63es 230K 62518 BB
%13 83 )37 6250558

B3B8 @28 £ 6323 91330 BODBIND 6259BD®
TCP/IP &25)2528363253 GJ8c328)

NIE 6289182652063 D€ DD e

O O 0O O 0O o 0O 0O o o o

1correct— 1mark
2 correct— 1.5 marks
3 correct— 2 marks

maximum 2 marks)

[TOYAL FOR @25 MARKS)

3. (a) 3 o008 Lhndh Dodon e drxodurs B edd §ne, obs oy A 8850m, 38 v
aBcrly ostER 018 adn® mdD sdmonid gecd BB, qmd cBoniBndn B8 ednds
o183, 84C ¥0d M1 B¢ vy C169. B0 BT @03 dhxdass 83 Oboomd DD mesS
ascd 8880 oicg® od8.

(i) BB 88>y BB gad¥n BBOO ency® sy cl» c-OxooS guzeB (e-business model)
8500 el DostH.

B2C/Business to Consumer/Business to Customer

[1 mark]

(i) pozned 880 ;B 95D 2.0 ewidcas 08 008 9decB @00 een® =on &
Stsoom @130 58d0 8580 mEiEn oendter? i covdomae »SHm.
(1) @99 =832 geed gl D Emodo sr enidce gnd OB e-VBd grmSar
ddomno o¢ mS Oriess ¢f

B2B/Business to Business

[1 mark]



\2) ondSen on. quind Gt Orooadecs axidn Exlivwn edgd wm Soeod & €Oz
Gxx3® gyt (revenue model) &8z endewst B1088 Doutm.

Hotel: Hotel can earn revenue by displaying handy craft business’s advertisement on their
web site and channeling traffic to the handicraft business site. (Advertising/affiliate revenue

model)

60f0cs: 5O 6D 2RV anim® enedt) D151:5:60wH 816 2125
23282 W6, 5D 29785 D575 365 605 eI0cenH 608 4Ddewn:

epzsfm&&ﬁa@os Dedfeed Bgdmy OGBS OB 222259253 @183{5 DUSCS. oo Q&Q

(3G oeacs® emaddcs) .,,_,KJQ‘S" DG o6 Z’K“B "‘,L‘waétf

[1 mark]

Handicraft Business: Proposed e-business portal can earn revenue by sale of products.
(Sales revenue model) -

egzsfm@ 93698 D1532355: ‘©csTE8) e é)mas:é &D16¢5 OEL3 €3emeSm
‘ w&ﬁm eex:oos@ @@xms) aouéics &@@8 ap:q:as@ &22BIc8)’

[1 mark]

: (gm@ OB G¢ c—&modewﬁ @o&nm @od® amé&@ SYISn 5080 o B @@W otz
55xizn. , .

Pavment gateways (using credit Cards/debit cards/using electronic payrment cards online)

[third party electronic payment processors, sgch 25.PayPal/online fund transfer/using online

banking fund transfer, .can be used to process electronic payments via e-business portal.

@@8@ ) {é)aé (&5 9253/ 6 aﬁ/@@@ﬁogaﬁw 6®HID 2353 em@zs)@oszsf)/
PayPaI DB 695 58605 9B 6:dD BES/@:ED®m® fed @ool @@/

e-D25226 ¢D20cs B3 923D Emd 6D BEDD Ded9Hd 63@
' ' [2 marks]

5(|v) w@z’g@ ley-)) GQ e- azsae_sod 6D i@oocs 23een) 23:86IBmeszS GrmEsencs
*6 BTO DD 8‘5%3" @I85 E) GRD e-26CIBBE® (e-marketing) Oz

-
' @@cszsi 62863253 23120188 OB B.
Socral media campaugn (vna Facebook Twutter etc )/ emaul camgalgn (dlrect mallmg)/sMS
campauzn/advertlsmg in other websrtes can be used to attract users to the proposed
site/search engine marketing ‘
I gg

E’Zamm 0 e5ISe0sm moe e | g.eoe. (C.eve) Bowwa - 2018 | @Dess3’ oo itds qupess e aRd o



(Facebook, twitter ®1253) €3®323 (@310025) 2@ Redeed 23c5z3 208/ EH7S 12913 (83889
2NRE3T 360 OB BBBMmBEEDHES 6D PN Dedees 3DI1GE DA
5)© 9@} 6csiS® 6D ¢NIBO 8eefGmessl grbrmes mE
D185./623D® 353%5) @65@63‘@;16@8 6@

[Correct method 1 mark, explanation 1 mark

=2 marks]

(V) oicp® oo (g e-Drus @b ddded s88cm qBdqB¥ (user expenience) &8 Tyen BCe
©ewo REEET dduln (intelligent agent) modznara w08 ¢ 2B enmcy Bdod iz,

Intelligent agent technology can be used to suggest customer preferred products by
analyzing customer behavior on site/ intelligent search functions can be provided to help
user search through the products. /Kf,g‘r product recommendations on thg site

QBB sl muSeescs dmens] 69D 3DIS WG wr8eraddizcagd enBES
60y BdledB e W3S 3:8ceniBmesr DR OB Bdesresy oo 2556@@5@_@§L

ee39ed® &r Imenss et defeed $:86iBmenI0 ©1edR ewde® 8088d
2138@/6DR RIS B $edd) HBedn HBED5S

[Keyword 1 mark, proper explanation 2 mark}

[3 marks]

. (b) an-ddzin (multi-agent) HDBED BSE DM G (aos usedn vy Grsdnm Bt

FOm S(Esdos LM 6, OPD QS3e0D Yalmed 88xc lacaszﬁm
" Bagtm00w EETimOiond tBlcmn and Sganc 838D exd emBAGO ond 88on.
R0t gm:xao W O émo Oztesd 47 c&occ)m m@ozsf @edngm' qzﬁ‘adm

7w



[1 mark]

as illustrated in the diagram an agent software has the agilitg tg cgglmunicate yg'gh ﬂ;g user via the
HSBI X ;g;fegg, (agent A and User)as well as the ot agents W s the i multi-agent

environment{agent A and Agent B yyi § i L'self-autonomoggn.
_’m_LV\E AN 25% D | -

[Agent user communication ¢ 1.5/)agent -agent communicatio 1.5

ote 1\ -3marks
* aa’e&@) 2%%““"‘ &7(’@)"0:‘) 7 {Total for 3(b) = 4 marks}

K OB ,M.;i wv?‘ﬂwﬂ axe’*—‘ @

[TOTAL FOR Q3 15 MARKS]
s o CVP'*‘ e .

4. @) O 2D eOA aB Grmas BemEH, DO o8O Drecr’ edm 100=S 83 mﬂ a
n< 100 eco qpDO0 =0 n Bed 18, (0 + 1) O dx:0 -1 oco ocnE S8t QM
G20 B, C4INCGOmS aCo SYD QEEDL P eHTIRO OB LedDI 88 1B e 9 &5
s O -1 888 gdems e8igoy! enal.

23 12 54 76 89 22 4 65 -

o8 Bens o gomced M 535 N g8 DD Boem® .35 33
S BBy
e1GecoSnius ©1R® vonm=s 085 Sooe&ss =dsm. s o

—

20 - emIoTRdT 00 euiBebn mmueia | e, (E.coe) Smwwa - 2018 | #best wweeidm mment ma mrf s



Start

f‘:

max € x

n&en+1l

[Marks breakdown:

Correctness of overall algorithm: 1 mark

3 decision elements must exist: 3 marks for correct use of them, as follows (or equivalent):
o “isx==-1?" - 1 mark (including correct Y and N connections)

e “isx>max?” - 1 mark (including correct Y and N connections)

e “isn<100?” - 1 mark (including correct looping / Y and N connections)

Correct initialization of variables: 1 mark

mar€— "\ orrect update of max: 1 mark
€0
n Correct input and output: 0.5 marks
wu PA_O—":C O'S

“start” and “stop”: 0.5 marks
Penalties applied after the above mark allocation:
if wrong flowchart symbols used, -1 for each wrong symbol|

{Total for part (a) 7 marks;



qFetm qdemlnte gxim eems eibosi=v i}
a0 oef qpome Bm L, medizy oqBuigdd ¢, I
oo aagrme Koegm ¢ meliotind ¢ ad, :ﬂ.fif:s wowe [/
{i) »e8 eppne (L) 23.45,32, 11,67,39,92,51,74, 99 K aome nozin
¢ @00 qipma (K) 38 ¢ Do =@, glwme g ¢ ; »

False

Determine if Kis in L / output True if K is in L, False otherwise

K, L8 Bed e @ BB escs B60. K, L& Bed 50 381256 825 O5) 4258 deed

6228z 80 gesms ¢d.

[2 marks No partial marks]
—

15'””’“’"‘ w esifledin mluein | g.om.e. (c.eog) Boon - 2018 | aDeszt tommAnm mrmend smm mef s



Python program to implement the algorithm expressed by the flowchart.

# ListSearch.py(Python version 3.x program)

# input: L (a list of numbers), K (a number)
# output: "True" if K is in L, "False" o

L = input ("Enter the list of numbers:"): O+5
numList = [int(i) for i in L.split()] # or similar way
K = int (input ("Enter K, item to search:")yg.¥

wise

n = len(numList)
i=0
K) :
\
i =1i+1

if (not (i < n)):
print ("False")

[Loop must exist with correct looping and exiting/aborting of loop > 1 martk-
“if”” must exist to compare each list element with K > 1 mark

p

L 05 orrect method to get input -» 1 mark
Ko

Correct method to output - 1 mark

Overall correctness - 1 mark

Minor syntax errors will be ignored (not penalized)

Colon “:” and indentation are major (not minor) syntax]

[Total =5 marks])
{Total for 4(b) 8 marks}

[TOTAL FOR Q4 15 MARKS]]

20 --omﬁdx'aﬁt:-,m esifledim meao | geone. (¢.oog) Bmon - 2018 | g8as] acecdds sines ne gud g,



CLASS &g

— S e o e 2 e s v

ClassID ClassName ‘ClassTeacher Strcam Year

nmt 12 - A A. B. Perera mysiéaT-game 2017

1112 i2-B N. Mohamed Bio Science 2017

113 13 -A E. Scivadurai Arts 2017

14 13-B l. de Silva __ Commerce 2018

STUDENT &¢&

" IndexNumber i ClassID  Imitials Swmame  DateOfBirth
8991 PR E. Nazeer 1999.12.06
8993 T 1niI S. Sivalingam  1999.02.06
8995 | a2 W, Femando  1999.11.11
8%97 | um U.H.  deSiva  1999.08.06

(2) @ oy @ oee ¢t a8 CLASS ax STUDENT ¢ 0ol 808 o@3rlmeds eesiemdis
(cardinatity) 983 ¢? 000®: @ o ® oz g edde B8PLES Bu ¢foim.

-~
ﬁi-l, B=N (M)-Lene to many / 1:n/1:N
[A, B labels optional; order mandatory
[1 mark X 2

= 2 marks]

(b) avn cowdsool gItln ord/ardl BY POSIRD WRS/OYI mBnawx g a¢x end
o®dzi oo (relationship) comwon grmess oule osstm.

Primary key ClassID of CLASS table is used as the foreign key in STUDENT table.

CLASS D®6D 233082 52E D25
G6EE3 $182%) 6259685.

NO

[2 marks ¢ partial marks]

47



(c) (i) STUDENT exs CLASS 89 o406 99n (2NF) gimndewz? 068 ¢7 tes B8R0 exinesd v
e’ ool oosim. ’

Yes, @8
[1 mark]

Both STUDENT and CLASS table are in INF as all fields are atomic and every non-prime
attribute of each relation is io he primary ke rimary key is
not composite, hence all other attributes are fully functionally dependent on the primary key,
and there are na partial dependencies / they are in 3NF as no transitive dependencies exists

in addition to non composite primary key, hence in 2NF

STUDENT €329 CLASS D) 62620 8@ 25eds) efmes e3n D28 D2 39BN G e 1@
Q092 290D BRIV POSm SRS OB ¥Ed eRB MELDEND
3821553 %) MDY/ 293092 328 23032 ©20D% Kesr 3% 262258 B

Bodn 08m <5d I 3ed ecr ZEIDIND BS1BIH OB ¥HS Pedr
BB 0@ DB IO @B)S TWogks) amden 39m6 ect

LBoPBHDD 35HEBIH 620905 NP 690 D), 305 VOBWEHESBT AR
292 YOBWMOWGIAH}e 8IB.

{Identifying the keywords 2 marks
or

Complete explanation 3 marks

[4 marks)

e Data integrity and consistency is maintained hence database is (Atc;micity,
Consistency, Isolation, Durability) ACID compliant

. nda‘é;al ngliéatign[ there is less chance of storing two or more different copies of
the data/Smaller size database (By eliminating duplicate data, you will be able to
reduce the overall size of the database

o Data integrity/no update, delete, insert anomalies/Data modification anomalies are
reduced.

e Better performance faster access speed/ fewer indexes per table mean faster
maintenance tasks such as index rebuilds/ Searching, sorting, and creating indexes is
faster, since tables are narrower, and more rows fit on a data page

e Conceptually cleaner and easier to maintain and change database

e Updates run quickly due to no data being duplicated in multiple locations.

e |nserts run guickly since there is only a single insertion point for a piece of data and
no duplication is required.

o Tables are usually smaller that the tables found in non-normalized databases. This
usually allows the tables to fit into the buffer, thus offering faster performance.




e58e BedDresd iz DD s 30882 DD 231 DBD #3e3a ACID BWorDEBSD ()24,

230t825), 603D 23195 ®, 2Fe1D12T®) D2w® 6.
af-f-iz)@' .

IR 8258058 6218:808/e5im DE B85S 6ems 60T DB Genms
BB 201D @50 BB, | 298 D106 B3 23§ (3580953 e3elir

2085 OBIWMEB 5388y eBirnesremnese e8®edz 23155 &8 238 ®B)
S ed)

253 BedD123d I DI 253 0B HBH BB6Y, @Be® WwBEREES
OBIMEBN 62501 2555 6DH BB D5I1)RB GZIS1B.

D8 @ee 28ENDRNG BedH 6dKE NB DD dYIWO wd %A eBnm
©5)6270 665 HABHBEED 28nesss DD &S5BS DO (Ber: ek
I 6EINVBNDY DBt 63869, 65860 e edim BEDrenecs
28525589250, DpdE B89 DD B e 80O DB 6H¥E e
86O 12520

253 23@)eacs L3020 FR) DEN BSAE 23 V558 BB 32083

D09Q NI et 21BN EENOE Besr e ©DBHED DA,
8cszsle® 5O

s8I erme st BBe8E 458065} emmS 9235 ez 8Oenes PRETS
BB D@5 DD D8 20852589 5@

W, YIMWEBS 62518 DR DD DD £39@IXNSES5B; 8 6. DHBxS, DY
3336 8O SRR Kesr @eng 2382302

[3 marks]

{Total for 5(b) 7 marks}

v
gag,\f%

§ e
ﬁ(\]e‘e—

A

6

(U157 13-C | AB.Jinasena | Technology [2018 )

INSERT INTO CLASS VALUES (1115, '13-C’, 'A.B. Jinasena’, ‘Technology’, 2018);
or

INSERT INTO CLASS VALUES (“1115’, '13 = C, "A.B. Jinasena’, 'Technology’, '2018’);
or

INSERT INTO CLASS (ClassID, ClassName, CIassTeachef, Stream, Year) VALUES (‘1115’
’A.B. Jinasena’, "Technology’, '2018’); .

,'13-0C,




4 - ‘xoylf’,,
<

’f\ or

INSERT INTO CLASS (Class!D, ClassName, ClassTeacher, Stream, Year) VALUES (1115, ‘13 -C,
'A.B. Jinasena’, 'Technology’, 2018);

[Statement structure correct (Cotrect keywords + correct field names + correct values)

2 marks;

Overall completeness (Correct keywords + correct field names + correct values+ correct
use of quotes (either ‘ or “ }+ semicolon(Exact Answer))

2 mark]
no other forms of partial marks
=total 4 marks]

[TOTAL FOR Q3 15 MARKS



5. (2) 2o SUn el 68 anest 8608 Suwio¥n. oot uEedn BUndw we (do 3% ainm
i mpast cundl ool
qos¥ad BBST iy 0o vdn qog¥too iy CieB. weg 8533 nueifoe ¢l 38 acgbrgc
QY 948, aSL Ve D8sl qorBugead qifd ¢en3ndide StGoEY Cen ety o,
S8t ;i el
o quiBacied pegoe ‘oukostn bINTe' wm (oo 0 cired sokasnn
82T mBnecs

¢ V8006 sritioscd Quielfe: i8Ysa almdoess grliixin &Bdad aden cilads
{OBECws qZo0Sn E8A drigexms (22nS Hracl uinm

Gredl)
o ¢%30 02:8cs BRET 2ED iR Yl el Lok

ok 8007 (Gre¢hn odm8 mtionw afude vrLd
o3 e ot Y% #¢d)

FWMEROIEE BStiguond ol B3kt e acg¥oos Bfus 30 wel ghteds ng AL sl
AR (DY) 8D GO, & AL ST g 9gPsLd ‘corBud BEac (ot eALCE 5iEn
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A- Application,
B Application Acknowledgement/Acknowledgement
C-Eligibility Criteria

D-ReqU‘est/ApplIcétion’ for Eléctora'l List
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E- Electoral List

F- Request/Application for Residential Status/Confirmation of Residence
G- Residential Status/Corifirmation of Residence

H- Acceptance/Rejection Sta_tUS

I- Interview Letter/Interview Date, Time (Venue)

K- Interview Schedule

J -Imteniiew Schedule
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Functional requirements : Any requirement which specifies what the system should do or provide for
users/ they related to the technical functionality. of the system./ function is described as a
specification of behavior between outputs and inputs/ behavior (output) that a device or software is
expected to exhibit_in the case of a certain input./ desired operations of a software, or system
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e Non-functional requirements : Any requirement which specifies how the system
performs a certain function or system works /They describe how, how well or to what
standard a function should be provided /nonfunctional requirements describe the
general characteristics of a system. They are also known as guality attributes. (Include
service hours, service availability, responsiveness, throughput and reliability.)/define
system attributes such as security, reliability, performance, maintainability, scalability,
and usability
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Nonfunctional requirements
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[Each correct 1 mark,

Each incorrect answer reduce 1 mark,
all written 0 marks

More incorrect answers than correct answers 0 marks
Total = 5 marks]

{Total for 6(b) 8 marks}

[TOTAL FOR Q6 15 MARKS]

**Important**

Information for Chief Examiners of the panels: Please fill the
following table and include any amendments made at the chief controllers
meeting held on 9™ September.

Check List
Question Amende Amendment Made

d?

1. (a) N

(b) O
© g’

()] a

2 (a) a

()]

(ii) 0

(iii) 0

(iv) 0

(b)
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